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A classical Petri net is a four-tuple (PT,1,0) where:

P is a finite set of places,

T is a finite set of transitions,

| : PxT->Nis the input function, and

O :TxP->Nis the output function
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Exercise: Map onto (PT,1,0) and S
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Petri net (P,T,1,0):

P ={a,b,c,d}
T ={e,f}

I(a,e)=1, I(b,e)=2, I(c,e)=0, I(d,e)=0, I(a,f)=0, I(b,f)=0, I(c,f)=1,
1(d,f)=0.

O(e,a)=0, O(e,b)=0, O(e,c)=1, O(e,d)=0, O(f,a)=0, O(f,b)=2,
O(f,c)=0, O(f,d)=3.

State s:
s(a)=1, s(b)=2, s(c)=0, s(d) = 0.

—




)'Af o JL!S

Transition t is enabled in state s, if and only if:
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If transition t is enabled in state s,, it can fire and the
resulting stateis s, :
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